DIvISION WITH A REMAINDER II (H - SET 3)

Drviston Name:
Time: Score: y—
9931 + 10 = 16) 11788 =3 =
5 819 = 10 = 1712790 - 8 =
5 028 =~ 5 = 1) 2008 ~2 =
H 2817 +5 = 19 21012 + 3 =
5 9792 = 1 = 200 29358 = 8 =
6 9543 + 2 = 21 7881 + 10 =
no69272 + 7 = 22 1048 + 10 =
9 81646 = 10 = 23) 3062 + 5 =
9 33096 + 5 = 2 28l4+5=
10) 24281 + 3 = 2 7156 + 3 =
1) 29282 = 10 = 26) 13928 +4 =
12) 5150 + 10 = 20 5948 -5 =
13) 290 =5 = 28) 06480 = 3 =
1) 3642 =5 = 29) 2883 -4 =
15 2069 = 10 = 06999 -8 =
Mathematics: Division - Level § - Horizontal - Set 3 2 cul
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